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Absolute Index: Sagnac Interferometer f-=' ROCHESTER

* Wavelength range covered

0.355-1.064um, 1.55 -4.6pum, 8 — 12um

* Measurement accuracy

6n = 1E-4 (for a well-finished sample)

* Sample prep requirements

Thick (> 5mm), plane, parallel window

Diameter > 15mm

Surface curvature less than one wave over a 10 mm aperture
Wedge less than 2 arc min for most accurate results
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B ROCHESTER
Shear in Sagnac Ring Interferometer
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* Index can be calculated for many

different shears and averaged

Index uncertainty: limited by sample
thickness uncertainty (&t typically 1 pum)
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